KMQWseries gi?g?o’ﬁg%&%;vg sz

AE EEO MAS XA}
HESHO XL HojH L8
0| M|
IS Z2& LEAYX|Q HEZ
P HAZIZ
P BM A YR
(1) o © o0 (5) (6] (7] (8]
i BYECE @ 21 XX B GRS
XA B JIEE] 40 2 40
L ZEYH 50 @50
F BEEZAMR|H 63 263
T MEEZ|LIH 80 2 80
100 %100
0 B4 © EE AEZ3 0 22H FJT
2I1& 2289 @ 40 EECES
H Medd 2550,75,100,125,150,175 J Ljo= etz
@50, 063 | o T
200,250,300,350,400,450,500 K Hem# 324
80, ¢ 100
* BEHH 0| ZEAE EE 2RI
0 2EAYUXI FE 0O 2E AKX
K50 | FEE 2EAR| 27|E 2 x2leM 2ol 1m7t BE Yuct
o AS0l= i Zof LS £l
IK5N 2HA NPN s 174 %”lléw‘)" e e }
IK5P 2XH PNP n n 74 ofl) IK50 : IK50L

124 / KMQ Series



RSV

XD 3¢ 2=
LiYE EEd 60C
HemZHI=A 110C

] ] EI=E MIE|
712Y ZEY _ _
HX[S(F) EL2¥(T)
cHiE ° °
|5l AgH - -
ZOIE ° ° °
ZOIE(ERE) ) o o
22X ° ° °
P LREAQIX REFHASE
BEAX|XISHEH HEEHL|A 288 ey
KBT-04 @ 40 3 7l FYESH
KBT-06 2 50/ 63 238 EER)
KBT-08 2 80/2 100 1.6 MPa
0.99 MPa
0.08 MPa 0.16 MPa
B g
1 5~ 60T
Py | EH X2 9 2 9 =
Y20/ =
= 50~500 mm/s | 0.5~300 mm/s
Y20l Fu=ojo|e ‘S 23
NBR PDU, NLP, OPA ~250FO OBInTEOR
NBR SCB, SKY, SDA J1=3 Zed, MelaLed
S45C Zxazez
PI=hiT= EEL IS

FTEC /125



> AEX

===
> 25 LIST p N =
2EEY A o o 2E #s
ws| 229 |5
ROD COVER ALDC =3 640 | 050 | 063 280 | 6100
TUBE ABOBT | B opzCiol 2 388
PSTON
PISTON ROD §45C ga38=3 ® PA?)KION " | NBR | P40/ P50 | 0PA-634| OPA-60A 0PA-100A
PISTON ALDC EEETNE
e
TIE ROD ALz Lz
0 =cny SKY=16| SKY-20 | SKY-20| SKY-25 | SKY-30
T/R NUT s45C Lzsg
CUSHION VALVE e @ | oo NBR soaa0|sDA-50 | sDA-633DA-80 [SDA-10D
ROD PACKING NBR

PISTON PACKING L

M= ol Akat
CUSHION PACKING |  NBR A HEne TN

ASBOI M0l BEEA =RISHAAl 2. erdatel F2|,

® 9o o666 e 600 e:E:

O-RING NBR 3= FAANEZ MES BTN 2.

0-RING NBR e .

O-RING NBR A= A O = O
WEAR RING PTFE

A =
MAGNET N
RN HEE ASTE OfY K| DHIAIR,

ROD NUT 520C H2=3 M W0t WRIE 2 WRISHE TIREM AHE0| HEE/f

STOP RING SWRH QXIZE, T 0y RN HEE x| DRIAIR.
BUSH PUR W AIRICIO| AERT BEHOME BIEA| 0f0] TS SS5HIA|

-

[0

Q. T Wort oS B2 NEfol AR T W 23
M sHIAIR. I 17l pfop Elol2E EE mAER
ASSY7H THe ELiC,

nm

126 / KMQ Series



PA 2-Re(PT)P PA 4-N WA wB

9Q
|-
QDo
|
ao

F TK+STROKE F+STROKE T
TL+2STROKE

(mm)

FEUE

_n
N
i=3
=
I
>

Q| TL | gD | H KK PRC)| PA | TK|OC | OT N WA | WB| W

50 | 58 | 28 | 18 | 31 40 | 206| 20 | 17.7| M18x1.5 |3/8 | 145 90| 52 | 70 | M8x1.25 | 8 | 9.9 |29.7

B

40 | 51 | 25 | 14 | 28 | 6 | 32 |186| 16 | 15| MI4x15 |1/4 | 13 | 84| 44 | 60 | M6x1.0 | 5 |10.5|26.7
7
7

63 | 58 | 28 | 18 | 31 40 | 214 | 20 | 17.4| M18x1.5 | 3/8 | 15 | 98| 64 | 85 | M8x1.25 | 9 | 11.5]30.7

@80 | 71 | 33 |22 |36 | 10 | 52 | 258 | 25 | 225| M22x1.5 | 1/2 | 21 | 116| 78 | 102 | M1Ox1.25 | 11 | 13 |36.7

100 | 72 | 37 | 26 | 40 | 10 | 52 | 270| 30 | 19 | M26x1.5 | 1/2 | 21 | 126] 92 | 116 | M10x1.25 | 13 | 14 |39.7

4-N
KK
L s i
a
A=Y b4 Z
T 4-¢LD ~ -
—
; Y X L+STROKE X Y ‘ X ‘
LS+STROKE ' e !
TL+STROKE or
(mm)
SEUA| LH LS LT LX LY aT ac D X Y KK L TL N

40 | 40 138 | 32 | 42 70 60 44 16 27 13 M14x1.5 84 175 M6x1.0

50 | 45 144 | 32 | 50 80 70 52 20 27 13 M18x1.5 90 | 188 M8x1.25

63 | 50 166 | 32 | 59 93 85 64 20 34 16 M18x1.5 98 | 206 M8x1.25

80 | 65 204 | 45 76 116 102 | 78 25 44 16 M22x1.5 116 | 247 M10x1.25

100 | 75 212 6 92 133 116 92 30 43 17 M26x1.5 126 | 258 M10x1.25

FTEC /127



b EE=E EHIL(F)
KK 4-¢FD 4-N
-
2 I 2lr
FT e
F TK+STROKE F+STROKE ot
TL+2STROKE FX
FZ
(mm)
eayd| gD | FQ | FT | Fx | FY | FZ | TL | oD | OC | OT KK TK N v | F
40 | 9 | 71 | 12 | 80 | 42 | 100 | 186 | 16 | 44 | 60 | Midx15 84 | M6x1.0 5 | 5
50 | 9 | 8 | 12 | 90 | 50 | 110 | 206 | 20 | 52 | 70 | Mi8x15 90 | M8x1.25 6 | 58
@63 | 1.5 | 101 | 15 | 105 | 59 | 130 | 214 | 20 | 64 | 85 | MI8x15 98 | M8x1.25 6 | 58
980 [ 135 | 119 | 18 | 130 | 76 | 160 | 258 | 25 | 78 | 102 | M22x15 | 116 | M10x1.25 707
2100 | 135 | 133 | 18 | 150 | 92 | 180 | 270 | 30 | 92 | 116 | M26x1.5 | 126 | MIOx1.25 8 | 72
> ME EZLLZFM
7+1/2STROKE 4-N
KK L
P [
M\ L — M
e O e
/ N~—1 /
E
F TK+STROKE F+STROKE
TL+2STROKE
(mm)
eagd| 7T [ 7x [Ty [Tz |7k |oOc |OT | TL|eD | F | Z KK N Vv 9 TD
940 | 22 | 85 | 62 | 117 | 84 | 44 | 60 | 186 | 16 | 51 | 93 | Mi4x15 M6x1.0 5 | 15 33
950 | 22 | 95 | 74 | 127 | 90 | 52 | 70 | 206 | 20 | 58 | 103 | Mi8x15 | M8x1.25 6 | 15 3%
63 | 28 | 110 | 90 | 148 | 98 | 64 | 85 | 214 | 20 | 58 | 107 | Mi8x15 M8x1.25 6 | 18 3%
@80 | 34 | 140 | 110 | 192 | 116 | 78 | 102 | 258 | 25 | 71 | 129 | M22x15 | Mi0x1.25 | 7 | 25 339
2100 | 40 | 162 [ 130 | 214 | 126 | 92 | 116 | 270 | 30 | 72 | 135 | M26x15 | MiOx1.25 | 8 | 25 009

128 / KMQ Series





